




A two-lens problem

• Two thin lenses are placed 8 cm apart.  The first 

has a focal length of +9 cm, the second 

+5 cm.

• An object is placed 20 cm in front of the first lens.  

Where is the final image formed, and what’s its 

total magnification?  Is it a virtual or real image?

• Method: break it up into two problems with one 

lens each.  Use the image produced by the first 

lens as the object for the second lens.
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Two rays are drawn from the top of an object.  One of the rays 

crosses the principle axis at point A as shown.  Which one of 

the following statements best describes the location of the 

focal point on the right side of the converging lens:

1. The focal point is a short distance left of point A

2. The focal point is a large distance right of point A, 

where the rays converge.

3. The focal point is a short distance right of point A.

4. The focal point is at point A.









a) Where is the near point for an eye which needs a 

contact lens of power +2.75 diopters?

b) Where is the far point for an eye which needs a 

contact lens of power -1.30 diopters?
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A telescope as a 95.0 cm focal length objective, 

and a 15.0 cm focal length eyepiece.

a) Find the angular magnification of the telescope.

b) Find the height of the image made by the objective 

of a building that’s 60.0 m tall and 3 km away.

c) What is the angular size of the final image as seen 

through the eyepiece?









Light Amplification by 

Stimulated Emission of Radiation







Cool figure from “Molecular Expressions”







Laser guide star in use

at the Keck 10m 

telescope on Mauna Kea
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